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AAA57tEHH A b =1, 3

b
i), ii), iii) oA
a=0°"b=-1, -3.. a+b=-1, -3
a=3°"bp=1, 3 La+b=4,6
a=8°Hb=1,5 La+b=9, 13

wakA 8 L a+ b 9] Fo] B 4 ik




T4, x, yol W F AL A y = ax—8 T bx+2y = ¢ 2 7} (2,
Cc

off thsto] a? — 26 + ¢ o] FA27?

@+« o1 0-9 @-12 6 -13

(2, ~4) Ey=ax-8°] Y3 -4 =2a-8
wehA g =2 ©],

(2, -4) Ebx+2y=col HYstH 2 -8 =
w2tA 2b — ¢ = 8 o] Hr}.
a*-2b+c=a>-(2b-c)=4-8=-47} A},




75.

A% (mym +10) ] AHHFZA x +2y = 11, nx -2y = 19| S|

O -15 @ 2 ® 8 @ 13 @15

(m,m+10)2 x + 2y = 119t YA5HA

m+2m+20 = 11

ot m= -390, x=m=-3, y=m+10=-3+10=7
o] up2tt.

x=-3,y=72nx-2y=1° gY¥3IH -3n-14=1

webA n = -57F Fth

somn=(=3)x(=5) =15




